Beginner 2 — Exercise 29 — Quantifiers: There is no, There are no

Quantifiers: There is no, There are no

FORM:

USE:

EXAMPLES:

There is no + (non-count nouns)

There are no + (plural nouns)

“No” is a ‘zero’ quantity of a noun. When it is combined with “There is no” and
“There are no” it is used to show that there is a zero quantity of the noun in the

place stated.

There is no sugar in the cupboard.
What? Where?
There are no books on my desk.
What? Where?

Complete the following sentences using THERE IS NO or THERE ARE NO.

coffee in the pot.
tea in the cup.

tea bags in the box.

children on the bus. 6.
eggs in the carton. 7.
milk in the fridge. 8.
papers on my desk. 9.
water in the jug. 10.

money in my pocket.

bills in my wallet.



